AES Key Expansion

K[n] : WJi] = K|[n-1] : W]i] XOR K]|n] : W[i-1]

Ex: W[1]=K[1-1]: W[1] XOR K[1]: W[1-1]
K|[n] : W0 = K][n-1] : W0 XOR SubByte ( K[n] : W3 >>8) XOR Rconli]
Just for WO

K1 =97 C9 2F 1B (words hexa) every word 8 bits

Example:
K1:

WO0=0F 15 71 C9
W1 =47 D9 E8 59
W2=0C B7 AD

W3 =AF 7F 67 98

Find K2:
(A QA & Gaaly MG WO allad i Jf
K2: W0 = K[n-1] : W0 XOR SubByte ( K[1] : W3 >>8) XOR Rcon|2]
Y s T 0 dad K[2] Uk Wi¥Rcon[2] WE (il
OF 15 71 C9 XOR SubByte( AF 7F 67 98 >>8) XOR Rcon|2]
OF 15 71 C9 XOR SubByte(7F 67 98 AF ) XOR Rcon|2]
subByte g (ninn
OF 15 71 C9 XOR D2 85 46 79 XOR Rcon|2]
Jsaad) (e gd gdiRcon[2]
OF 15 71 C9 XOR D2 85 46 79 XOR 02 00 00 00
Binary < agd $a) (g
(00001111 00010101 01110001 11001001)XOR (11010010 10000101
01000110 01111001) XOR (00000010 00000000 00000000 00000000)

11010010 10000101 01000110 01111001= step of subbyte

00000010 00000000 00000000 00000000= Rcon|2] }
11010000 10000101 01000110 01111001= result
00001111 00010101 01110001 11001001 = WO }
11011111 10010000 00110111 10110000 = final result

Hexa ) W) Lany

K2: W0=DF 90 37 B0
words ) 2L Jas) 4

Good Luck ©



K2: W1=KJ[1] : W[1] XOR K[2] : W[0]
47 D9 E8 59 XOR DF 90 37 BO
XOR 4ke s sul (paBinary W sal
K2: W0=DF 90 37 B0
K2: W1=98 49 DF E9
w2 and w3 albl 1358

Good Luck ©



